
７

⑦ 定着

日にち： 月 日

名まえ

① 午前６時50分から１時間40分たった時こくをもとめましょう。
ご ぜ ん

６時５０分＋１時間４０分

＝ 時 分

＝ 時 分

＋

時 分

１時 ４０分

６時 ５０分

<筆算>

答え（ ）

② 午後２時55分から１時間15分たった時こくをもとめましょう。

２時５５分＋１時間１５分

答え（ ）

＝ 時 分

＝ 時 分

＋

時 分

１時 １５分

２時 ５５分

<筆算>

ご ご



７

⑦ 定着 答え

日にち： 月 日

名まえ

① 午前６時50分から１時間40分たった時こくをもとめましょう。
ご ぜ ん

６時５０分＋１時間４０分

+1 －60

＝ 時 分７ ９０

＝ 時 分８ ３０

くり上がる

＋

時 分８ ９０

１時 ４０分

６時 ５０分

<筆算>

答え（ ）午前８時３０分

② 午後２時55分から１時間15分たった時こくをもとめましょう。

２時５５分＋１時間１５分

答え（ ）

＝ 時 分３ ７０

＝ 時 分４ １０

くり上がる

＋

時 分３ ７０

１時 １５分

２時 ５５分

<筆算>

午後４時１０分

+1 －60

ご ご




